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2. Which expremons are solutions to the equation = bx =152 Select all that apply.
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4, For each equation, write a story problem represented by the equation. For each equation, state what
quantity x represents. If you get stuck, draw a diagram.
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(from Unit 3, Lesson 13)

6.1n a lilac paint mixture, 40% of the mixture is white paint, 20% is blue, and the rest is red. There are 4

cups of blue paint used in a batch of lilac paint. A/ L/O°/, wh I+C 8 (qp.s
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a. How many cups of white paint are used? 1 2. RO I b/ y-€ CMF,S
b. How many cups of red paint are used? . o Yol red 3 C“f.5

¢. How many cups of lilac paint will this batch yield? — g
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If you get stuck, consider using a tape diagram. S e
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7. Triangle P has a base of 12 inches and a corresponding height of 8 inches. Triangle Q has a base of 15
inches and a corresponding height of 6.5 inches. Which triangle has a greater area? Show your
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